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ECONOMICS

Full Marks : 80
Pass Marks : 24

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A : Introductory Microeconomics

Q. No. 1 carries 1 mark each 1x6 = 6
Q. No. 2 carries 2 marks each 2x6 = 12
Q. Nos. 3-6 carry 4 marks each 4x4 = 16
Q. No. 7 carries 6 marks = b
PART—B : Statistics for Economics
Q. No. 8 carries 1 mark each ' 16 = 6
Q. No. 9 carries 2 marks each 2x6 = 12 |
Q. Nos. 10-13 carry 4 marks each : 4x4 = 16 L
Q. No. 14 carries 6 marks : = 6
Total = 80
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PART—A
Ren—
Ren—=
AEEN—h
( Introductory Microeconomics )
(IR =R «ifew )
(IR s «ifiva )
(o’ Traf Pt Rrmaty )
1. Answer the following as directed :

woe AR fNerIp] Tes fr

(a) Define utility.
Boaifrer kel |
Toigaifarers TR WIS |
AEERIF geiE 8|

(b) What is budget line?
wen @ 2

(c) Draw a perfectly elastic demand cuyrve,
aquret ojef BRI B (I R 41 |
g5 7 RfSTe SRl (R O AL
3fdr T TR AT T Bl s
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1x6=6

P

(3)

(d) State the law of supply.
caeiwe RfAce! Sead 341 |
e R Seax e |
STRAER @i TE |
(e TC = TVC + ____
( Fill in the blank )
( QR IR 7V )
( *FER @1 ¥l )
( el S 3T EierH )
| () What is meant by equilibrium price?
SR 7d et 7 JE
. SIRPI R JECS AR ? ‘
TR Y& e A g
2. Answer the following questions : 2x6=12
©eq eRPTRY T fidl
fafRe erefem Teg s :
TeRR ViR T 8
(a) Write two differences between micro- and macro-
economics. 2
TR o ST R e o1~ o |
IR @3z RIS T 76 A1 R
o T AR YK TR o aHE A R R
Or / 5331/ 531/ T
State two characteristics of production possibility
curve.
‘e SSIR! (IR T1 e ST 0 |
Tes{ FORIS! (AR b s Sea I |
fRgrag oI e g HAR STgeE 7|
| Contd.
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(4) (S)

(b) Define : 1+1=2 (d) Define production function. Write one feature of it.

e firan 1+1=2
ARG T Tl FIREI T | T b1 Caf¥iEs for |
FHEE B
(i) Microeconomics (i) = Opportunity cost ki R TRl 3P !

SHESIGRCREIS - S[Cs TR fegamg T () £ geeTE | SF AN amgens forl

i = SIS |

Write two differences between fixed cost and variable
Or / 5331 / S/ T cost. 2
Write any two central problems facing an economy. 2 forq 7 O RTINS T 2N T |
2@ @2 TR @@ R @ o @ e e -
ol SR ST RS A GG B PR P (A | A R R ARTERNA T e 7 G T |
e GaETET Arm-Aif S SRS 7 e SRR 1 TR TR HieRrey T TSR WA BRI o’ |
f diminishin inal utility. :

(¢) Staterthe lav; ° q;,r; ﬁfs\ AT éﬂ?:';in Y 2 (e) Define monopoly market. State one feature of it.
P 2fee Tere 1+1=2
FEPTE Teraferer Rifafe .

e ﬁm, % W,T’mﬂm' oo e ke i | T B S SoEd 90 0
i Or / %A1 / A1 / Tl oo AR e M8 | @ G 3R Sead T |
A 20% fall in the price of a commodity leads to 25% Bl T o AR B S AR ST e
increase in demand. Calculate the price elasticity of
demand. Or / {1 / &[T / Tl
7 20% 2T W bW 259 SICUR
‘&Tﬂl ﬂm@ st ?WOI 25% ¥ | ™ Write two assumptions of perfect competition. 2
@35 7@ W 20% 2 B9 Bifdw 25% % e | pifewE 7@ °ff AfSCiTORETe JETT WO! SRYeln foral |
fefogrerper ATl PC | opf efeTArTET® <TEC 6 SR e |
Jarg AFAF S 20% WiFEE A fmrrd) 259 | AR
Fo EEEAEE! AT fogA | g EE T WA e fer
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(6)

() Explain the chain of effects of excess supply on
equilibrium price.

ST WIS 8OFS SfSfe (AT ¥R Zore pl 241 |
SPGB SRS (eI e 2R W Tl |
RIEeTE SRR T AiEE s Rk e Sed |

Or / 9311 / S%<1 / &1
Distinguish between price ceiling and price floor.

e T S S o S e #fi< ford
R T A 3R T AR T AL e |
Sy st R oY e R wR for|

3. State and explain the law of demand with the help of a
demand schedule and a curve. 4

a3 S SpHl WIE GoE @R RS v R Twy wre
0 40
a5 BifRwE Sl @k @%b U TR siRne [fEb Ty v ek
5151 AT |
i e w0 S T RweE TAE e e
J@d|

Or / 9=l / [0 / Tl

Define price elasticity of demand. What are the methods of
measuring price elasticity of demand? 1+3=4

sife 7 RRogerer ke il | SiRne e RfeRere (RIR R
5
s T RfeEemer Sl WS | BiReR W EfeRrmrel TR rafeuf
J?
Al S e IR € | R S A gt e

HqT AIY

(7))

4. Explain the law of variable proportion with the help of

diagram. 4

o[Rgamet Sipere R e < 4 |

oifgee Segeire R fourr = ¢ |
Aoy TEgAEH TG Gramis sed |
Or / S241 / |{1 / Tl

Define AP and MP. Write two relationships between
AP and MP. 1+1+2=4

AP o[ MP3 i@l fial | AP =@ MPJ e 451 5=t &t |

AP @<} MPA ¥&[ 718 | AP @3 MPR 50 4B =7 (e |
AP 3R MP i 8™ 211 AP & MP f fwft s deet feml

. Discuss how the market supply curve is derived from the

individual supply curve. 4
e e @[ Rl T TEE e @1 SR R AR,
HCAGA 41 |
Sfese QPR @4l (A Feld SR @O @ SRR FCe A,
ST FCAT |
AR ST Sl EEREE WER g S S g JEA
(WITRAT) BRI W |

Or / S%31 / 91231 / Tl

Explain any four determinants of the market supply of a
commodity.

T B TS ISR & e DR e e |

43 TR AW SR @ (@I 5R6 Wefwe e B |

@Mﬁmmmﬁm%ﬁmé@al
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(8) | (9
6. Explain freedom of entry’ and ‘exit of firms’ features of Or / &% / 5931 / gan
perfect competition. 4 What is consumer equilibrium? Explain consumer
) , . , equilibrium in case of a single commodity with the help of
o AfRITorpRe TERe ‘AR YT AT W Ye ages a utility schedule. 1+5=6
MBI I | . %Wwwﬁ?mmm%ﬂwwwmm
o ofScae 5 G ‘m@ﬁaﬂ_@ﬁm’ o Wﬁgﬂ’_‘ﬂg W’-@,%WWWWW! -
K fr — | Boierer Trevel T2 I TR R BISIeR SISl e
afgsesfer T ¢ ‘ - S 41 W, SOl SRR TR W IR |
3"3. CIERID IR T Al S | ST MRS A7 /R S CUERERIDICAS D)1 TRITUR TR A" S
ST S@d | ' SR FIRE RBTETE S@e |
Or / &1 / &1 / Tl | PART—B
Wwith the help of demand and supply schedule, explain ;he , Re—
X i ffect on price of a .
meanln(%i t;f excess demand and its e p g Rl
commo .
TE—E
S oF (RIS DN RS SORE HRAA Y SIE W T b
799 8oFS | ASH RLUREN _ ' | ( Statistics for Economics )
ot % CAPTI PP TR SRR SR e R @ @l (e o)
N\ .
TR ol o1 2SR I Pl | | | (el «ifimiean )
R TR SRR BRI YETETE e i i o afy S | (r’rarﬁ‘erﬁwmmgnﬁﬁwn)
SRR R GEE TR TemE! S | 8. Answer the following questions : 1x6=6
‘ | | OO 2PPIRY Ted
AR eryefem e e ¢
7. What is an indifference curve? What are its main | MEEE SHIERE f5r B
properties? Explain. 2+4=6 (a) Who is known as the father of statistics?

frcers (a1 5 7 T A PB4 | e e ~IfeRy Rema Pre Roreet w7 2
Ercers @31 7 97 A4 FREE F 2 T v | | g“{gﬁ“’“é“ . "mwﬁ;%m&?
T drg gEten w7 A TEE ATGATHRT AP G | | |
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(b)

(d)

/426

( 10)

Write any one importance of statistics in economics.
efRerTs #fReE R el @61 gwe fr

AR ARPRUR (@ (I <3 GG I |

T Rftare aregEt sraasmEn Jnd M )

Write one difference between census and sample
survey. ‘

forme S ] SRR A GO N o 1
ST G3R T SR T G <A1 e |
gq wr@ s TRy wifta ™ TS AR wRe fow)

What is the full form of NSSO?
NSSOR 5 T 7
NSSO-aa 3= Feid 2
NSSO-fi arig wew
Find out the arithmetic mean from the following data :
o SR o AE oE ey 4
AgeTe SIPTR (XGRS 16 Fefa e
TR TR wETRER R g
3,5 7,9 11

State one advantage of median.

SR <51 R oA <+
g G35 AR STERY FCA
Nty AR @ G|

(@)

(b)

/426

9. Answer the following questions :
CoIq PPTRS T fram
FafRe el Teq me

(11 )

2%x6=12

Write two characteristics of statistics. 2
*{f IR0 Y51 (R8s o |
IR T ¢ e
AR Aaa emges v
Or / &%31 / ©%{1 / &1
Define st;atistics in plural and singular sense. 1+1=2
T2 OIF ¢ S “AfRPRIE AKw fr |
GFRF qR I3 e AR TS 7S |
e AR AR SRR WA FHiETE 8

Write two differences between primary data and
secondary data. o

onafiie O I T T e Y1 #N1F o o

onafiie B G T SR O TV ML ol

TR @t Ry 4R TR AR A wR fR
Or / w1 / % /

Mention two sources of secondary data.
(M9 S 71 T AN TeEy 791 |

(5Nt e i BT AN TeEd A |

Af @it 97 ga g 7|
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(c) What is bar diagram? State one feature of it.

(12 )
1+1=2

we g 7 29 961 (3RS Sray 390
we Ba T2 o7 9 @Y SE FA
aﬁﬁmﬁwm?%ﬁmﬁmﬂsw’l

Or / Odl / 991/ &l

Define histogram and frequency polygon.

39’2 T IR IXged K i |

BB G373 IRLIROT ILFLEH T W16 |
qﬁmaﬁqﬁﬂﬁmn@@m et SrarEmiR gEETE 8

(d) Define arithmetic mean. Mention one property of the
arithmetic mean.
mﬁﬁﬂsmﬂ@ﬁmumﬁﬂsmaﬁmmﬂw| |
ST ICwd TRE! 76 | SIS 1T 46 CIMIBT SCad Al |
qm@ﬁﬁmﬂﬁéﬁwﬁgqaam@nmﬁmﬁﬁé@rﬁmmm
7@ |

Or / &% / ©%[1 / Tl

Mention two main objects of an average.

m@ﬁmmﬁzmwx
WﬁﬁmmmﬂWl
m(@)ﬁmﬁmﬁmwﬂ

Mention any two merits of mode.

e R e o1 R SeE
W@@Wﬁ?{ﬁm@?ﬂﬂml
3Ty SRS A a7 |

(e)

1+1=2

2

( 13 )

Or / &331 / 5337 / €&
Write two uses of index number.
S5 IR B e Forsi |
o YA o IR (T |
FIRTY sARmEERR A arrAE forl
(f/ Mention two importances of correlation. 2
I o 8FG SCa 90 |
ST o GFE SEY A |
TRISAREAE AR A7 T 7@ |
Or/ &/t / R / T

e _

" What do you mean by index number of industrial
production?

SrmIfarE Beeid T SR I @ 2
QR AR BT TR IACS A (RGN 2
2R Rges SRR geteen w1 gRe?

10. What is diagrammatic presentation? Discuss the
usefulness and limitations of diagrammatic presentation

of data. 1+3=4
B Toem 27 °UR PR TR TSl Wi SHRwe! st
30|

B3 TorErer B 7 AR PR SIEPIeTE SopiiRel ¢33 KRS wgem;
FCAl

grEmR R w7 @i aER RFRGTER S R R
e |
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( 14 ) ( 15)
Or / 931 / |31 / T Or / ST / 9330 / T&ar
| . Find out the value of Karl P ’ i
g Define variable. Distinguish between discrete and correlation of the following : carson’s coefficient of 4
| continuous variable. 1+3=4 S NN S— &
Ws{mﬁmmmwwﬁﬁwmmﬁmﬂwl | S Bl
RafeiRe s (3 I PRI TETEE 891% -
qummmﬁﬁiawwwﬁ%lmﬂwmﬁﬂWm - ST ol
. MR ERAEH e fEReE TRIseEE are aere f&g :
q‘nmﬁg@aﬂwa’rleﬁgﬁmaﬁ@%m DI RIS (] e
NP wE R | X | 65|66 |67 |67 | 68|69 | 70 | 72
11. Define correlation. Mention the degrees of correlation. Y 67 | 68 | 65 | 68 | 72 | 72 | 69 | 71
1+3=4 13. Write short notes on : =
sy fira | SEoTEEd TAPTR | et
LEZERR RO 5 (BT foran
TR VI 18 | TR WA (e | wigfine Bt e :
WWW@IWW%&(W)-W T g e
fer! (a) Consumer price index
1 Or / <A1 / AT / T | - TpEre W PIRE
ir' , - . | | ~ YoOreR T IPIF
5‘1 Explain the meaning and anu:ﬂp:;:ance of index number. 4 i PENI X
I ° | . .
} e R Y TE G e - () Wholesale price index
| s TR i R G R T T | s T I
. ey smmfy s S T | e | | oA T PIE
' 12. What is scatter diagram? Give any three merits of it. | Or / &1 / %41 / T
| 1+3=4 . 1vortant limitations of inde
Point out four impor X numbers. 4
ﬁﬁs@ﬁaw@ﬁs?mﬁ@mfﬁﬁw R o %ﬂomﬁmwﬂaﬂﬁqﬁw Cerko
: ' \
ﬁﬁs@m%ﬁo‘%?m@@mﬁﬁw Rl T | | Wﬁgmﬂﬁmqu@jml
P R » i s A A
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(16 )

14. What do you mean by central tendency? What are the
essentials of a good measure of central tendency? Explain.
1+5=6

@R oo W IR B 32 Sed (TR 2RO o ATSATS!-
TR a1 ‘
@A oRTeR TH e P QR e (RN ARTOR IR
s P2 W I

fire rions e T gRR? TR A e e e AR R
1 A e :
Or / SI%<1 / &%/ &1

Calculate the arithmetic mean, median and mode from the
following frequency distribution : 2+2+2=6

wore i RG] T o1 A T, e A T fef -
REFRe TRl R (X3 AAfE 15, J @R I o I

TR BT TN TR AT A o, e TRy st

/426

fag:

Class Interval Frequency
I ST IR
I ST R

DGR ICIC] TR
1-3 3
3-5 10
5-7 16
7-9 13
o-11 8

11-13 o
13-15 1
* % *
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